
3
5

1

3
9

4

6
8 4

5 3

11

4

3

10

2

4

9

8

7

3
5

1

3
9

4

6
8 4

5 3

11

4

3

10

2

4

9

8

7

2 12 7

7
65

4

3

11

9

8

13

10

1

14

2 12 7

7
65

4

3

11

9

8

13

10

1

14

11

A

B

A

C

D

Jubilee 35M



11
3

5

1

3
9

4

6
8 4

5 3

11

4

3

10

2

4

9

8

7

3
5

1

3
9

4

6
8 4

5 3

11

4

3

10

2

4

9

8

7

2 12 7

7
65

4

3

11

9

8

13

10

1

14

2 12 7

7
65

4

3

11

9

8

13

10

1

14

11

A

B

C

D

D

Pos. Number Description Qty
1 35-0129 Weight stone 8



2 12
7

7
65

4

3

11

9

8

13

10

1

14

2 12
7

7
65

4

3

11

9

8

13

10

1

14

3
5

1

3
9

4

6
8 4

5 3

11

4

3

10

2

4

9

8

7

3
5

1

3
9

4

6
8 4

5 3

11

4

3

10

2

4

9

8

7

2 12 7

7
65

4

3

11

9

8

13

10

1

14

2 12 7

7
65

4

3

11

9

8

13

10

1

14

11

A

B

C

D

C

Pos. Number Description Qty
1 35095 Assembled stone above the door 1
2 35-0136 Top support for stone 1
3 B-020006 Plain washer 6 mm DIN9021 3
4 B-370616 Hex cap screw M6x12 DIN933 7
5 35-0140 Angle support for stone above door 1
6 B-370620 Hex cap screw M6x20 DIN933 1
7 B-210006 Nut M6 7
8 35-0134 Top stone support 1
9 35-0133 Loose top part to stone 1
10 35076 Element on top of door to stone welded 1
11 B-330810 Set screw M8x10 DIN913 4
12 35-0142 Top support for back plate 2
13 35101 Upper back plate welded 1
14 50-346 Rubber bushing 2



3 5

1

39

4

6
8

4

5 3

11

4

3

10

2

4

9

8

7

3 5

1

39

4

6
8

4

5 3

11

4

3

10

2

4

9

8

7

3
5

1

3
9

4

6
8 4

5 3

11

4

3

10

2

4

9

8

7

3
5

1

3
9

4

6
8 4

5 3

11

4

3

10

2

4

9

8

7

2 12 7

7
65

4

3

11

9

8

13

10

1

14

2 12 7

7
65

4

3

11

9

8

13

10

1

14

11

A

B

C

B

D

Pos. Number Description Qty
1 35097 Side panels with dowels 1
2 35097 Side panels with dowels 1
3 B-040840 Washer ø8 4
4 B-370616 Hex cap screw M6x12 DIN933 4
5 B-320612 Socket head cap screw M6 x 16 DIN912 8.8 2
6 35096 Side panels stone top with dowels 1
7 35096 Side panels stone top with dowels 1
8 B-020006 Plain washer 6 mm DIN9021 2
9 35-0094 Cylindrical pin 4
10 35-0057 Topplate stone 1
11 35017 Top cover with damper welded 1


